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INPUT x aa (539,9 polia wgnns sdialy
\ 7

l] (5> (539,951 1 bl b
Al W5 ] sl pop

Vxq, x2: if (X1 == x3) then f(x1) == f(x)

FUNCTION f:

v
OUTPUT f(x)

w@ (293 olis degase 5yu



U A e Powp sle s,

1(1,1),(2,4),(3,9), (4,16), ...} A ps 29
fx) =x? Spt Gale)

FUNCTION f:

def f(x):

return x x x
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INPUT
X=
v
(
FUNCTION f:
xZ
J+L OUTPUT
fx)=9  ===we- > bl G U daly ) sene of @0 98 al
INPUT *L
FUNCTION g:
X+1
W s g(f ()
OUTPUT

g(f(x))=10
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det <name>

it )
u

argl, arg2,... argh):

¥ ¥ ¥ ~

return <value> .
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def <name»(argi, arg2,... argN):

argl,arg?2,...,argN
N/

return <value>

FUNCTION f:

+

value
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a
b
C

int(input( enter first number: '))
int(input( enter second number: "))
int(input('enter third number: "))

nod =
while a »>= 16:
a a // 1o
nod = nod + 1
print(nod)

I QL =

—> d [015/’ )I,u}' duw (80

nod = 1

while b »= 1@:
b=>b// 10
nod = nod + 1

L g (05/’ S dwlas

print(nod)

nod = 1

while c »= 186:
c=c/f/f 16
nod = nod + 1

—> C (0@/’ Sl duwlae

print(nod)
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11
12
13
14
15
17
18

def

a
b
C

nodl
nod2
nod3

prin
prin
prin

b ;1 oyl 4 Ual,

AAA

num_of digits(n):

nod = 1

while n »= 10:
n=n)// 10
nod = nod + 1

return nod

int(input('enter first number: "))
int(input( enter second number: "))
int(input( 'enter third number: "))

num_of digits(a)
num_of digits(b)

num_of digits(c)

t(nod1)
t(nod2)
t(nod3)

pugiy (51 dalip s )lis

$>9,9 )1 1) Jirie dw 4)/
Sagi 5 ax bl
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1 def num of digits(n):

2 nod = 1

3 while n >= 10:

4 n=n// 10

5 nod = nod + 1

6 return nod

7

g sum = @

9 for 1 in range(2350, 12841):
10 sum += num of digits(1)
11

12 print(sum)

44505
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import math
def is prime(n):
for i in range(2, int(math.sqrt(n))+1):
if nkl ==
return False
return True

00~ O LN B

def num _of digits(n):
nod = 1
while n »= 10:
n=n// 16
nod = nod + 1
return nod

[ R
- P N I v B Ve

sum = @
for i in range(2358, 12841):
if(is_prime(i)):
sum += num_of digits(i)
print(sum)

o e e e =
G MO B0 =] ©n LN

5829



1  dimport math o oo

2 # ag function to calculate 1+4+3+ ... + n#**2 U%Q /) é’!b

3 def sum_of squares{n): T ooooooooooooos
sum = @

for i in range(l,n+1):

sum 4= i**2 )& 4)/,«4“‘4941 s by s Jlo

return sum ,
: : . e,y $r9,9 511, M ot
9 # a function to calculate sum of digits )
:1 def sum_:z-FédlgltS{n:]: l.p[g/] aw (’J)Q{ d9] 9 6)/«)/

s5um =

12 while(n != 8): z,«i//dyu(./w L ;e e

13 sum += nXx1l6

n //= 10 1+2+4+9+-+n?

= " LA =

{94

15 return sum

17 def is _prime(n): n

13 for i in range(2, int(math.sqrt(n))+1): <

19 if n¥i == O: C

26 return False sum_of_squares I

21 return True 3.

22 ST

23 n = int({input(’'enter an integer: ")) sum_of digits

24 print{sum_of squares{n)) C

25 print{sum of digits(sum of squares(n))) 41,

26 print{is_prime{sum of digits(sum_of_ squares(n)}))) I is _prime I
enter an integer: 123 ‘!i—
627874
34 True or False

False
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def wf el yogas 5 O

)il bl L 3,5 U 2y pitwds pize Qsisly ;> py s

a = int(input('enter an integer: "))

- a o - . :
if ak2 == ©: enter an integer: 4 ~ enter an integer: 3
def f(n): enter an other integer: 18  enter an other integer: 18
- e s
for i in range(@,n+1,2): 5 1
. . 3
print(i) g s
else: o 7
def f(n): 16 § 21
for i in range(1l,n+1,2): 12 13
. . 14 |
pl"‘lﬂt(l) 16 - 15

18 17
b = int(input('enter an other integer: ')) |
print(f(b))

O i piy ol 3¢5 o 4 RO <y CHt iile s puto pé sl )
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1 def f out():

2 a = int(input('enter an integer: '))

3 b = int(input('enter an DthEF integer: '))

4 - def f_in(x,y):

z if x> | . ) : .
6 rzturn X - &0 el &0 e 9 é{(l
7 else: cad (wawy W6 f_out
8 return y !

9 ______________________________________________
10 return f_in(a,n)
11
12 f_out()
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def num of digits(n):

2 nod = 1

3 while n »>= 10:
A nod += 1

5 n //= 10
6 return nod

digits num = num of digits
g print(digits num(12345))

O i piy ol 3¢5 o 4 RO <y CHt iile s puto pé sl )



def fun(f,n): & (DU (o98s ,) U?((

1

2 return f(n) T
4 def num of digits(n): wize @l (ilae Lgta,d/
5 nod = 1

6 while n >= 10: Wlsie 4 é!U d(w/’) MMl
7 nod += 1 )

3 n //= 10 i ol )4
9 return nod

16

11 def 1isPrime(n):

12 for 1 in range(2,n):

3 if n#%1 == ©:

14 return False

15 return True

16

17 print(fun(isPrime,13))
18  print(fun{num of digits,13))

True
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ilegyT (o6 (wlwl g b)) ®
1 def func(a,b,c):

2 print(a,b,c)

A func(1,3,2) - (.}i(.oyl//r i (wlwl

5 func(a=1, b=3, c=2) .

6 func(b=3, c=2, a=1)> (4/("’9)//’ U ol p

7 func(1l, c=2, b=3) U_L_J:idﬁ,w

O el oyléul ilasl] 2l bl p Jl)) s, ;I cawl jigy
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1 def func(a,b,c=3,d=4): . Js/ ('1509’//7' 9> Jlw,l
2 print(a,b,c,d) ,Qucoﬁ’”pwwi
3 ol (s, ls)
4  func(a=1, b=2)
5 func(a=1, b=2, c=7)
6  #func(a=1)

1 2 3 4

1 27 4



